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About fujimopy
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Peak detection
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Peak cut

numpy . loadtxt(path)

fujimopy0l 4 fm

fm.pcut(x1, x2, d[:,2],d[:,1], odr c, xlo
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Frequency cut
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About peak detection
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scipy signal
maxid = signal.argrelmax(y, order=odr)

((int(order) != order) (order < 1)):
alueError('Order must be an int >= 1")

datalen = data.sha is (_SC1py0)547“5I) 0) I:I:I 0)
n = .shape[axis]
locs = np.arange(@, datalen) argrelmaX':Fﬁj_é%Béj\

results = np.ones(data.shape, dtype=bool)
main = data.take(locs, axis=axis, mode=mode)
shift xrange(1l, order + 1):

plus = data.take(locs + shift, axis=axis, mode=mode) ifiﬁggﬁf%fﬁb\®—6~

minus = data.take(locs - shift, axis=axis, mode=mode)

results &= comparator(main, plus) %B%':E@J:alzto_gg

results &= comparator(main, minus)
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Appendix

Code of fujimopyl 4

L T T TR}

‘data/acc-BS-1.dat’

numpy
d = numpy.loadtxt(path)

fujimopyOl 4 fm

fm.pcut(xl, x2, d[:,@], d[:,1], odr, pc, xlog=Fa

se)

peak(xl, x2, x, y, odr, pp, xlog):
j range(len(x)):
x[j]>x1:

range(len(x)):
x[k]>x2:

scipy signal
maxid = signal.argrelmax(y, order=odr)

len(maxid[@]) < pp:
ppp = len(maxid[@])

PPP=PP

ange(len(maxid[@])-j-1):
y[tmp] < y[maxid[6][j+1+i]]:
tmp = maxid[@][j+1+i]
t=j+1+1
maxid[@][t] maxid[@][j]
maxid[@][j] = tmp

matplotlib.pyplot plt
plt.plot(x, y)

plt.yscale("log")
xlog==True:
plt.xscale("log")
plt.xlim(x1,x2)

plt.grid(which="major',color="black’,linestyle="-")

cnt = @
i in range(pp):
plt.scatter(x[maxid[@][1i]], y[maxid[@]
plt.text(x[maxid[@][1i]],y[maxid[@][i]]
cnt += 1

.show()

[i]], c="red")
> "['+str(x[maxid[@][1]])+',

"+

rrl.
15

.le}" .format(y[maxid[@][1]])+"]")




Appendix

scipy signal
maxid = signal.argrelmax(y, order=odr)

range(len(maxid[@])):
y[maxid[@][i]] > pc:
a.append(maxid[@][i])

matplotlib.pyplot plt
plt.plot(x, y)
plt.yscale("log")
xlog==True:
plt.xscale("log")
plt.xlim(x1,x2)
plt.grid(which="major',color="black',linestyle="-")

cnt = @
i ~ange(len(a)):
plt.scatter(x[a[i]], y[a[i]], c="red")

plt.text(x[a[i]1,y[a[i]], '['+str(x[a[i]])+', '+'{:

cnt += 1

.show()
int(x1, x2, odr, i+l, cnt)

.1e}'.format(y[a[i]])+']")




=)} testpy gazo_shoripy fpcpy fujimopyO1_4 py fujimopyO1_4j py triming py fujimopyO1_2py fujimopyO1_5py

'data/acc-BS-1.dat’

numpy np
matplotlib.pyplot plt
scipy signal

data = np.loadtxt(path)

x = data[:,0]
y = data[:,1]

plt.plot(x, y)
plt.yscale("log")

plt.xlim(x1,x2)

i range ((x2-x1)//hh):

yy=y[i*hh*ff: (i*hh+hh)*ff-1]
xx=x[1*hh*ff: (i*hh+hh)*ff-1]
maxid = signal.argrelmax(yy, order=odr)

j ang en(maxid[@])):
plt.scatter(xx[maxid[@][j]], yy[maxid[@][j]], c="red")
plt.text(xx[maxid[@][j]],yy[maxid[@][j]], '['+str(xx[maxid[@]1[j]])+", "+'{:.1le}".format(yy[maxid[@][j]1)+"]")

show()
t(x1, x2, odr)
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